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EmSAT Physics Practice Exam 

1.  
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24 m/s 

    t –x = 24t 32.09 موقع جسم بالعلاقة التاليةيوصف 
  هي قيمة تسارع الجسم بالثانية. ما  tبالمتر و  x حيث أن ،

 ر؟ فتكون سرعته تساوي ص عندما

 

The position of a particle is given by 
x = 24t – 2.09 t3, where x is in meters 
t is in seconds. What is the 
magnitude of the  acceleration of the 
particle when its velocity is zero?  
 

48 m/s 

12 m/s 

0 m/s 
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تستتتلا  لتتت   0.20قيمتتتته  مغناطيستتتييتتتتم تل يتتت  مجتتتا  
ونتيجتتة كلتت   ،ثانيتتة 0.10صتتفر  تتي  تتترة قمنيتتة قتتدرها 

 تتي قتتد يار مستتتحث  تتي ح لتتة متتن الستت  . أي ممتتا يتت ت نشتت 
 تتي ورتتور نفتتا التيتتار المستتتحث  تتي نفتتا ح لتتة  يتستتب 
 الس  ؟

 

A magnetic field of magnitude 0.20T is 
reduced to zero in a time interval of 
0.10s, thereby creating an induced 
current in a loop of wire. Which of the 
following would cause same induced 
current appear in the same loop of 
wire? 
 

B = 0.10T Δt = 0.05 s 

B = 0.50T Δt = 0.40 s 

B = 0.30T Δt = 0.10 s 

B = 0.30T Δt = 0.30 s 
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130 C 

 اراد ع    رق جرد   ميكرو 8.2 كا تم شحن مكثف بليمة 
الليمة المخقنة ل شحنة ع    ما هي   ولت،  16قدره 

 ؟ المكثف

 

If an 8.2 μF capacitor is charged to a 
potential difference of 16 V, how much 
charge will it store? 

 

                          1.3 x10-4 C 
 

                          5.1 x10-7 C 
 

0.51 C 
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500 m/s 

متر. ضربت   30.0تم توجيه بندقية أ ليًا نحو هدف يبعد 
مركق نلطة سم تحت    1.9الرصاصة الردف لكن بمسا ة 

 بندقية ؟ الا هي سرعة الرصاصة عندما غادرت مالردف. 

 

A gun is aimed horizontally at a 
target 30.0m away. The bullet hits 
the target 1.9 cm below the aiming 
point. What is the speed of the bullet 
as it emerges from the gun? 

 

153.3 m/s 

304.5 m/s 

482 m/s 
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   غرام بقنبر   ي وضع أ لي ثابت 50كت ة بوقن تم ربط 
نيوتن/متر.  كا انضغط القنبر  مسا ة   =3600kمرونته 

 . سم كما هو موضح  ي الشك  5
 
 
 
عندما يتم تحرير القنبر ، ه  تتمكن الكت ة من تجاوق  

 متر؟  h = 10الت ة التي ارتفاعرا 

 

A 50 g block is attached to a horizontal 

spring with a spring constant of k = 

3600 N/m. The spring is compressed 

by 5 cm, as shown in the figure.  

 

When the spring is released, will the 

block be able to cross the top of the hill 

with a height of h = 10 m? 

 

h

d

equilibrium
point

5 cm

 
The block will bounce back before 
reaching the top of the hill. 
 

تص  قمة سوف ترتد الكت ة ل خ ف قب  أن 
 الت ة

 
The block will stop immediately 
after crossing the hill 

 الكت ة سوف تلف لحويا بعد تجاوق الت ة

 
The block will cross the hill. الكت ة سوف تتجاوق الت ة 

 
The block will settle at the top of 
the hill. 

 الكت ة سوف تستلر ع   قمة الت ة
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6.   

التالية يمكن أن تؤدي  ل أي اللوى الاسترجاعية   
 حركة توا لية بسيطة؟ 

Which of the following restoring 
forces may lead to simple harmonic 
motion? 
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ما هي    .  Iالشك  يوضح ح لة دائرية يمر برا تيار شدته 

 شدة المجا  المغناطيسي الناتج عن التيار عند نلطة الأص ؟
The figure shows current I flowing in 
a circular loop. What is the magnetic 
field produced by the current at the 
origin? 
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نرايتي  ب  m منرما قيمة ك تم ربط كت تين متساويتين، 
  كا تم ضغط القنبر  مسا ة. kته قنبر  أ لي ثابت مرون

d   تحرير  ، ما هي سرعة أي من الكت تين عندما يتم
 القنبر ؟ 

 

Two equal masses, each of mass m, 
are attached to the ends of a 
horizontal spring with a spring 
constant k. If the spring is 
compressed by a distance d, what is 
the speed of either of the two masses 
when the spring is released? 
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ت ثر بمجا   ت جسم مشحون يتحر   ي مستوى صفحة 
حركته تكون باتجاه  و  مغناطيسي منتوم يتجه داخ  الصفحة

علار  الساعة وبشك  ح قوني حيث يتناقص نصف قطره 
 أنّ: كما هو مبين  ي الشك  أدناه. التفسير المنطلي هو  

 
 

A uniform magnetic field is directed 
into the page. A charged particle, 
moving in the plane of the page, 
follows a clockwise spiral of 
decreasing radius, as shown.  A 
reasonable explanation is: 
 

 
The charge is negative and slowing 
down 

 الشحنة سالبة وتتباط 

 
The charge is positive and slowing 

down 

وتتباط الشحنة موجبة   

 
The charge is positive and speeding 

up 

 الشحنة موجبة وتتسارع

 
The charge is negative and speeding 
up 

 الشحنة سالبة وتتسارع
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حيث  ، يلود شخص سيارته ع   قمة ت ة )لا يوجد قوة ر ع(
متر.   100يمكن اعتبار الت ة كجقء من دائرة نصف قطرها 

برا عند نلطة  ما هي أقص  سرعة يمكن ل سيارة أن تسير 
 بدون أن تفلد اتصالرا مع الشارع؟الت ة   ع  ب

 

A man drives his car (without a 
negative lift) over the top of a hill. 
The hill can be considered as a part 
of a circle with a radius of R = 100 m. 
What is the maximum speed the car 
can have without losing contact with 
the road as it passes this highest 
point ? 
 

31.0 m/s 

 We need more information to solve  نحتاج مع ومات اضا ية ل ح 

25 m/s 

10.2 m/s 

R
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أبيضين  ققمين يتكون النوام النجمي الثنائي من 
متشابرين الحجم يدوران حو  بعضرما البعض حو   
مركق مشتر  ل كت ة. يتحر  ك  النجمين  ي دائرة  

كم ولديرما قوة جاكبية   80000تفص  بينرما مسا ة 
نيوتن.  كا كان لك  نجم   x 10 341.04بينرما تساوي 
 ترة الدوران كجم،  ما هي  301x10كت ة تساوي 
 المداري؟ 

 

A binary star system consists of two 

similar-sized white dwarfs orbiting each 

other around a common center of mass. 

Both stars move in a circle 80,000 km 

apart and experience a gravitational force 

of attraction between them of 1.04 x 1034 

N. If each star has a mass of 1 x 1030 kg, 

what is the period of their orbital 

revolution? 

 

4.2 hrs 

6.7 hrs 

6.5 min 

2.6 min 
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بدلالة   U(x) الشك  أدناه يمث  طاقة الوضع
 ي أي منطلة ع   الشك  تكون قيمة اللوة   , (x)الموقع

 المحا وة أكبر ما يمكن؟
 

In which region, in the following potential 
energy U(x) as a function of position (x), 
is the magnitude of the conservative 
force the greatest? 
 

(b) 

(c) 

(d) 

(a) 
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التغير  ي  تر  كوبًا ساخنًا من اللروة ليبرد، ما  يعندما 
 الطاقة الكي يحدث  ي جقيئات الماء  ي اللروة؟ 

 
 

When a cup of hot coffee is left to 
cool, which energy change takes 
place with the water molecules in 
the drink? 
 

 Their kinetic energy decreases تتناقص الطاقة الحركية لرم 

 Their potential energy decreases تتناقص الطاقة الكامنة لرم 

 Their potential energy increases الطاقة الكامنة لرم تقداد  

 Their kinetic energy increases الطاقة الحركية لرم تقداد  
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يتكون رف من لوح خشبي متجانا ومربوط بالحائط  
   B ، ومع ق بالحائط من طر ه الآخرCالنلطة ب

.  كا كان وقن Aبواسطة حب  معدني عند النلطة 
، ما هي العلاقة  Tوالشد  ي الحب  هو  Wال وح هو 

 كا كانت قاوية الحب  مع الأ لي تساوي   Wو  Tبين 
 درجة؟ 30

 

A shelf consists of a uniform wooden 
beam attached to the wall by a hinge at 
point C. It is suspended by a single steel 
wire attached to the wall at point A and to 
the shelf at point B. If the weight of the 
beam is W and the tension in the steel 
wire is T, what is the relationship 
between W and T if the angle of the steel 
wire with the horizontal is 30 degrees ? 
 

W = 0.5 T 

W = 2T 

W = T 

W = 1.73 T 
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   ل  A نلطة بروتون من ال الشغ  اللاقم لتحري  ما هو 

كما هو   σ السطحية  ات كا كان كثا ة الشحن  C النلطة
 موضح  ي الرسم أدناه؟ 

 

What is the work required to move a 
proton from position A to position C if 
the surface charge density on the plates 
is σ as shown in the diagram below? 
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2.4 kJ 

من  3سم 120الحرارة المط وبة لر ع درجة حرارة   ما كمية
 درجة مئوية؟  70درجة مئوية  ل   20النحاا من 

 
3= 8.5 g/cm Brassd 

 السعة الحرارية النوعية ل نحاا  

= 0.40 J/(g °C) Brassc 

 

How much heat is needed to raise 
the temperature of 120 cm3 of brass 
from 20°C to 70°C? 
 
dBrass = 8.5 g/cm3 
specific heat capacity of Brass 
cBrass = 0.40 J/(g °C) 
 

0.17 kJ 

20 kJ 

0.28 kJ 
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يتحر  الجسم  ي الجان  الأيسر من الشك  ع   سطح  
  من ل  كت تين متساويتين.   ينفجرعديم الاحتكا  و ج ة 

 المع ومات المتو رة، ما هي قيمة السرعة المجرولة؟ 
 

The object shown on the left side of the 
figure is moving on a frictionless surface 
and suddenly undergoes an explosion, 
resulting in two equal masses. With the 
information provided, what is the 
magnitude of the unknown velocity? 
 

6.7 m/s 

7.0 m/s 

6.1 m/s 

7.9 m/s 
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15.6 µs 

  2.20يتح   ميون  ل  جسيمين آخرين بمتوسط عمر 
 ي الاحداثيات المرجعية عندما يكون  ة ميكرو ثانية ملاس
 0.990c كا تحر  الميون بسرعة  ي حالة السكون.

قيا من   اكا  بالنسبة للأرض، ماكا سيكون عمر الميون
 مراق  ع   الأرض؟

 

A muon decays into other particles 
with a mean lifetime of 2.20 µs as 
measured in a reference frame in 
which it is at rest. If the muon is 
moving at 0.990c relative to the 
Earth, what will an observer on Earth 
measure its mean lifetime to be ? 
 

3.24 µs 
 

2.20 µs 

12.4 µs 
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 كا كانت دالة شغ  الكاثود أكبر من طاقة الفوتون،  ماكا  
 ؟  رق الجردسيحدث لمنحن  التيار الكرروضوئي ملاب  

 

What happens to the following 
photoelectric current versus potential 
difference graph if the cathode work 
function is larger than the photon 
energy? 
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4 kg m/s 

 ل  اليمين   انيةث/ ترم 3كجم تتحر  بسرعة  2كت ة 
بسرعة كجم تتحر   ل  اليسار  7 أخرى   تصطدم بكت ة

كجم   2. بعد التصادم، تتحر  الكت ة كات انيةث/ترم 2
كمية  . ما هي التغير  ي انيةث/ترم 2 ل  اليسار بسرعة 

 كجم؟  7لكت ة كات ا  تحر 
 

A 2 kg mass moving with a speed of 3 m/s 
to the right collides with a 7 kg mass that 
is moving to the left with a speed of 2 m/s. 
After the collision, the 2 kg mass was 
moving to the left with a speed of 2 m/s. 
What is the change in the momentum of 
the 7 kg mass? 
 

10 kg m/s 
 

-4 kg m/s 
 

-10 kg m/s 
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ما هي التغييرات التي ينتج عنرا أكبر معد  لتد ق الشحنة  
  ي س   موص ؟

 
 

Which changes would cause the 
greatest increase in the rate of flow of 
charge through a conducting wire? 
 

 
Decreasing the applied potential difference 
and decreasing the length of wire.    تل ي   رق الجرد المطبق وتل ي  طو  الس.  

 
Increasing the applied potential difference 
and decreasing the length of wire.   قيادة  رق الجرد المطبق وتل ي  طو  الس.  

 
Decreasing the applied potential difference 
and increasing the length of wire.   تل ي   رق الجرد المطبق وقيادة طو  الس.  

 
Increasing the applied potential difference 
and increasing the length of wire.   قيادة  رق الجرد المطبق وقيادة طو  الس.  
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سلط جسم صغير خلا  س   ع   شك  ح لة موصو   ي
 .  ب ميتر حساا موضوع ع   طرف الطاولة

  

ع   الأرجح أن الجسم الكي  سببرا ن قراءة الأميتر الناتجة 
 ______. هوسلط 

 

A small object is dropped through a 
loop of wire connected to a sensitive 
ammeter on the edge of a table.  
 
A reading on the ammeter is most 
likely produced when the object falling 
through the loop of wire is ________.  
 

 Bar magnet قضي  مغناطيسي 

 Brass mass كت ة نحاسية 

 Flashlight battery بطارية مصباح ضوئي 

 Plastic ruler مسطرة بلاستيكية 
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ة( لغاق  )بوحدات ا تراضي PV منحن  الشك  أدناه يوضح 
مثالي محصور  ي أسطوانة بواسطة مكبا. يتمدد الغاق  

أي مسار   عبر. B ل  الحالة  Aمن الحالة  عندما ينتل 
 ؟ ب ع   قيمةالتغير  ي الطاقة الداخ ية ل غاق  يكون

 

The figure below shows the PV 
diagram (in arbitrary units) for an ideal 
gas confined in a cylinder by a piston. 
The gas expands as it goes from state 
A to state B. In which path will the 
change in the internal energy of the 
gas be greatest ? 
 

 Same for all paths متساوي لك  المسارات 

 Blue الأقرق 

 Red الأحمر 

 Green الأخضر 
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100 cal/g 

 ر لركا المادة؟ يما هو الحرارة الكامنة ل تبخ 
 

What is the latent heat of vaporization of 
this material? 
 

50 cal/g 

300 cal/g 

150 cal/g 
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5.0 

 يخضع جسم لطاقة وضع تعط  بالعلاقة  
 
 

د  ما هي المركبة القينية ل لوة المؤثرة ع   الجسم عن
 النلطة  

An object is subjected to a potential 
given by 
 
 
What is the value of the z 
component of the force on the object 
at the point (x, z) = (1.0, 1.0)? 
 

4.0 

7.0 

6.0 
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                           6.3 x1023  N 
 

ما هي قيمة قوة المجا  الكرربائي ع   بروتون 
 ؟ kV/m 1.0 شدته ي مجا  كرربائي موجود 

 

What is the magnitude of the electric 
force on a proton in an electric field 
of 1.0 kV/m? 
 

                                    3.6 x10-22 N 
 

                                    2.6 x10-35 N 
 

                          1.6 x10-16 N 
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،  إن المسار  P-V رسم مخطط لعم ية الموضحة  ي ا لدي  
. ه   iثم يعود  ل  النلطة   f ل  النلطة  iيكه  من النلطة 

 ؟ و موج  أصفر  و سال  أمن النوام  المنجق  الشغ 
 

Consider the process shown in the 
pV-diagram. The path goes from point 
i to point f and then back to point i. Is 
the work done by the system 
negative, zero, or positive? 
 

 W is zero  الشغ  صفر 

 W is negative  الشغ  سال 

 W is undefined  الشغ  غير معروف 

 W is positive  الشغ  موج 
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،   1.0m مسا ة  كقيرماكرتان صغيرتان تفص  بين مر
وقوة   gF  تؤثر الكرتان ع   بعضرما بلوة جاكبية 

 . EF كرروستاتيكية
 

،  إن قوة  m3.0 كا قادت المسا ة بين مركق الكرتان  ل  
 :يمكن تمثي را كالتالي الجاكبية واللوة الكرروستاتيكية

 

Two small charged spheres are 
separated by a distance of 1.0 meters. 
The spheres exert a gravitational force 
Fg and an electrostatic force FE on each 
other.  
 
If the distance between the centers of 
the spheres increases to 3.0 meters, 
the gravitational force and the 
electrostatic force can be represented 
as follows: 
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درجة مئوية  ل    90 تهدرجة حرار حارتم  ضا ة سائ   
درجة   20 ته جرام من نفا السائ  درجة حرار 500

 يجمقمئوية. ما هي الكت ة الإجمالية ل سائ  عندما يص  ال
 درجة مئوية؟  40 ل  درجة حرارة 

 
 

A hot liquid at 90 °C is added to 
500 g of the same liquid originally 
at 20 °C. What is the total mass of 
the liquid when the mixture reaches 
40 °C ? 
 

 200 g 200 جرام 

 500 g 500 جرام 

 

 
Cannot be determined without knowing 

the specific heat capacity of the liquid 

غير ممكن تحديده بدون معر ة 

الحرارية النوعية ل سائ  السعة  

 700 g 700 جرام 
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                             6 x 106 
 

  670ينبعث من ال يقر نبضة ضوء بطو  موجي 
ثانية  ميكرو 13.4نانومتر.  كا استمرت النبضة لمدة 

متر/ثانية، كم عدد   83.0x10سرعة الضوء تساوي 
 ؟ بثراالموجات الكام ة التي تمت 

 

A laser emits a pulse of light of 
wavelength 670 nm. If the pulse 
lasts for 13.4 ns and the speed of 
light is 3.0 x 108 m/s, how many 
complete waves are emitted ? 
 

                             6 x 1012 
 

                             6 x 1015 
 

                             6 x 109 
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 ألفا؟   اتجسيمتكون ت مم
 

What does an alpha particle consist of ? 
 

 Two protons and two electrons بروتونين و  لكترونين 

 Two protons and two neutrons بروتونين و نيوترونين 

 Two protons and two neutrons and two electrons بروتونين و نيوترونين و الكترونين 

 Two protons بروتونين 
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الاحتكا   ي حالة تواقن ثابت كما    بكارة عديمةنوام  
هو موضح. ع   ك  طرف من طر ي الخيط الأقرق،  

 500جرام وكت ة أخرى تقن  300تع ق كت ة تقن 
جرام تع ق من المركق.  كا تم تثبيت البكرتين ع   نفا  

 الموضحة  ي الشك ؟   αالارتفاع،  ما هي قيمة القاوية 
 

A frictionless pulley system is in static 
equilibrium as shown. On each end of the 
blue string, a mass of 300 g is attached, 
and a 500 g mass is suspended from the 
center. If the two pulleys are fixed at the 
same height, what is the angle α shown 
in the diagram? 
 

                                      34 ° 
 

                                      56 ° 
 

                                      85 ° 
 

                                      67 ° 
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                            1.00 m/s2 
 

  10.0سم تدور بسرعة  10عج ة بنصف قطر 
rad/s مركقها. ثم يتم تبطئة العج ة  ب حو  محور يمر

، ما هو   s50.0   بمعد  ثابت.  كا توقفت العج ة بعد
 التسارع المماسي لنلطة ع   حا ة العج ة؟ 

 

A wheel with a radius of 10 cm rotates 
at a speed of 10.0 rad/s about an axle 
that goes through its center. The 
wheel is then slowed down at a 
constant rate. If the wheel comes to 
rest after 50.0 s, what is the tangential 
acceleration of a point on the rim of 
the wheel ? 
 

                            0.0200 m/s2 
 

                            0.200 m/s2 
 

                            2.00 m/s2 
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من  قضي  لرا نفا قطر غرام  300كرة  ولاكية كت ترا 
 ي  الكرة و اللضي  تم  سلاط  .  غرام 105لمنيوم كت ته الأ 

. مباشرة قب  وصولرم  ل   حا ة مرتفعنفا ال حوة من  
 :يكون لرم نفا الأرض، 

 
 

A 300-g iron ball has the same 
diameter as a 105-g aluminum bar. 
The balls are dropped at the same 
time from a cliff. Just before they 
reach the ground, they have the same : 
 

 Momentum  كمية التحر 

 Acceleration التسارع 

 Potential energy طاقة وضع الجاكبية 

 Kinetic energy الطاقة الحركية 
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600 g 

متر. ما   100جو  لر ع جسم  ل  ارتفاع  ستة كي وتستخدم 
 هي كت ة الجسم؟ 

 (  2g = 10m/s)با تراض  
 

Six kJ of work are used to lift an 
object to a height of 100 m. 
What is the object’s mass? 
(Assuming g = 10 m/s²) 
 

600 kg 

6 kg 

60 kg 
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شحنتين  أي من الأشكا  أدناه يمث  مجا  الكرربائي بين  

 متعاكستين ع   كرتين موص تين. 

Which diagram represents the 
electric field between two 
oppositely charged conducting 
spheres? 
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600 Hz 

   m/sالطريق السريع بسرعةأنت تلود سيارت  ع    
سيارة الشرطة التي تسير ع   الجان  الآخر من   .20.0
صفارة   .m/s  40.0تتحر  نحو  بسرعة  و الطريق

هرتق.  500الإنكار  ي سيارة الشرطة تصدر صوتاً بتردد 
. ما هو التردد  m/s340  سرعة الصوت  ي الرواء هي 

 ؟ الشرطة  صفارةلالكي تسمعه 
 

You drive your car on a highway at a 
speed of 20.0 m/s. A police car driving 
on the other side of the highway moves 
towards you at a speed of 40.0 m/s. 
The siren on the police car produces a 
sound with a frequency of 500 Hz. The 
speed of sound in air is 340 m/s. What 
frequency do you hear for the siren 
sound? 
 

527 Hz 

474 Hz 

417 Hz 
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المؤثرة    F(x)الرسم البياني يشير  ل  قوة متغيرة 
 ع   جسم ع   طو  المحور السيني. 

 
أثناء    Fالشغ  المبتو  ع   الجسم من قوة  ما هو 

 متر؟  7 قاحته لمسا ة 
 

The figure shown indicates a varying 
force F(x) acting on an object along the 
x-axis.  
 
What is the work done on the object by 
the force when the displacement is 7 m? 
 

14.5 J 

13 J 

21.8 J 

13.8 J 

1 2 3 4 5 6 7

3

4

5

-1

-2

8

1

2

x(m)

F
(x
)N
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لدي  الدائرة الكرربائية كما هو موضح أدناه؛ حيث  
الأوم. ما هي قيمة شدة  أن جميع الملاومات بوحدة 

    ؟ I التيار
 

Consider the circuit shown in the 
diagram, where all the resistors are in 
ohms. What is the value of the current I ? 
 

0.6 A 

1.6 A 

3.2 A 

0.3 A 
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واط لمدة  جمالية تب غ   200محر  صغير يعم  
 ساعة.  1.50

 
عم ه  الكي يمكن أن ي شغ ما هو الحد الأقص  ل  

 ؟ المحر 
 

A 200 W small engine operates for a 
total time of 1.50 hours.  
 
What is the maximum work it can do on 
an object ? 
 

686.0 kJ 

1250 kJ 

300 kJ 

1080 kJ 
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 ثلاث قوى.   تحت ت ثيرالشك  أدناه يُورر عارضة 
ع   العارضة. أي   مرسومةثلاث نلاط  يوضحالشك  أيضًا 

 سالبًا؟  دوران من اللوى التالية ينُشئ عقم
 

 

The figure below shows a beam with 
three forces acting on it. The figure 
also shows three points marked on the 
beam. Which of the following forces 
creates a negative torque? 
 

 𝐹1 about 𝑃1  
 

𝑃1  حو 𝐹1  
 

 𝐹2 about 𝑃1  
 

𝑃1  حو 𝐹2  
 

 𝐹2 about 𝑃3  
 

𝑃3  حو 𝐹2  
 

 𝐹3 about 𝑃3  
 

𝑃3  حو 𝐹3  
 

P
1

P
2

F
2

F
1

F
3

P
3
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 ي المجا  الكرربائي بين   Pلع النلطة تأدناه،  شك   ي ال 
 . عاكسة واقيتين مشحونتين بشحنات متتم صفيحتين

 
ع    لكترون   المؤثقة بالملارنة مع قوة الكرروستاتيكية  

،  إن قوة الكرروستاتيكية ع   بروتون P ي النلطة  يلع
 ________لرا تكون Pموضوع  ي النلطة 

 

In the diagram below, point P is located 
in the electric field between two 
oppositely charged parallel plates. 
 
Compared to the magnitude and 
direction of the electrostatic force on an 
electron placed at point P, the 
electrostatic force on a proton placed at 
point P has______ 
 

 
The same magnitude and the same 

direction 
الاتجاها نفا الليمة ونف  

 

 
A greater magnitude and the 
opposite direction 

معاكاالتجاه  ي الا أكبر وقيمة   

 

 
The same magnitude but the 
opposite direction  

الاتجاه  ي نفا الليمة ولكن 

 المعاكا

 
A greater magnitude but the same 
direction 

 قيمة أكبر ولكن نفا الاتجاه
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تطفو طبلة رقيلة من القيت ع   سطح الماء.  كا كان  
نانومتر يسلط   642 يالأحمر بطو  موجالضوء 
  ودرجة ع   الحا ة الع وية ل قيت، ما ه 90بقاوية 

بين  هدام تسب   ي تداخ  يس  كيأدن  سم  ل قيت ال 
 ؟ عشاء القيت وق  2والشعاع  1الشعاع 

 
و معام  انكسار   1.427لقيت هو ا معام  الانكسار 

 . 1.333لماء هو ا
 

A thin film of oil floats on the surface of 

water. If red light of wavelength 642 nm is 

incident at 90° to the top edge of the oil, 

what will be the minimum thickness of oil 

that will cause ray 1 and ray 2 to 

destructively interfere above the film? 

 

The refractive index for the oil is 1.427 and 

for water is 1.333. 

 

112 nm 

161 nm 

225 nm 

321 nm 

top edge 
of oil film

bo�om edge 

of oil film

ray 1
ray 2

n 
air 

=1.000

n 
oil

 = 1.427

n 
water

 = 1.333
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حيث توصف  بسيطة  توا ليةيمث  حركة    الرسم التالي
  . ما X(t) = A cos(ωt + φ)رياضيًا  ي المعادلة 

  و الموقع السرعةعن  شارتي   يمكن  استنتاجه  الكي 
 ؟ Aل جسم عند  النلطة 

 

The figure below represents a simple 
harmonic motion as described 
mathematically as follows:  
X(t) = A cos(ωt + φ). 
What can you conclude about the signs of 
position and velocity of the object when it 
is at point A?  

 

 
The position is negative, and the 

velocity is positive. 
سال ، والسرعة موجبة الموقع  

 
The position and velocity are both 
negative. 

 الموقع و السرعة كلاهما سالبان

 
The position and velocity are both 
positive.  

 الموقع و السرعة كلاهما موجبان

 
The position is positive, and the 
velocity is negative. 

موج  و السرعة سالبةالموقع   

A

t

x
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تم وضع ثلاث شحنات كرربائية كما هو موضح  ي  
تساوي صفر،   2qع    محص ة اللوىالشك .  كا كانت 

 ؟2qو  1qما هي المسا ة بين 
 

Three electric charges are placed as 
shown in the figure. If the net force on q2 
equals zero, what is the distance 
between q1 and q2? 
 

4.0 m 

5.0 m 

2.0 m 

3.5 m 

Electric charge number              Charge (μC)             Position (m) 

 الموقع (m)                    الشحنة (μC)                      رقم الشحنة الكرربائية
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المسا ة بين صفيحتين متواقيتين ع يرما شحنات  
سم والمجا  الكرربائي بينرما هو   5متعاكسة هي 

كي و  ولت/متر.  كا انط ق بروتون من السكون   10
البروتون  من الصفيحة الموجبة، ما هي سرعة 
 عندما يص   ل  الصفيحة الملاب ة؟ 

 

The distance between two parallel plates 
carrying opposite charges is 5 cm, and the 
electric field between them is 10 kV/m. If a 
proton is released from rest from the 
positive plate, what is the speed of the 
proton when it reaches the opposite plate? 
 

9.3 x 105 m/s 
 

3.1 x 105 m/s 
 

6.2 x 105 m/s 
 

1.3 x 105 m/s 
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 ما هي العبارة الصحيحة التي تنطبق ع   أي عم ية تصادم؟
 

 

What is the correct statement that 
applies to any collision process ? 
 

 
Both energy and momentum are 
always conserved 

 ك  من الطاقة وكمية التحر  دائماً محفووان

 
Energy is conserved only if 

momentum is conserved 

الطاقة محفووة  لط اكا كانت كمية التحر  

 محفووة

 Momentum is always conserved كمية التحر  دائماً محفووة 

 Energy is always conserved الطاقة دائماً محفووة 

 ببببكب 
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ع   سطح خشن كما هو موضح  ي   جسمانيتحر   
  2m  3.0 =و 1m 1.0 kg  =الشك .  كا كانت 

kg 18.0 =و N 1F  3.0 =نيوتن و N 2F   ما ،
 الصغيرة؟   الجسمهي قيمة تسارع 

 

Two blocks are moving on a rough surface 
as shown in the figure. If m1 = 1.0 kg, m2 = 
3.0 kg, F1 = 18.0 N and F2 = 3.0 N. What is 
the magnitude of the acceleration of the 
small block? 
 

2.9 m/s2 
 
17 m/s2 
 

2.6 m/s2 
 

9.9 m/s2 
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. ما هو   LRCمكثفة – ملاومة - دائرة محث لدي  
 أقص  تيار  ي الدائرة؟

 

Consider the following LRC circuit. What is 
the maximum current in the circuit? 
 

0.121 A 

1.510 A 

0.293 A 

0.586 A 
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  20.04mملطعة  أسطواني مساحة ك ايحتوي 
ما هو الضغط   .كجم من الماء 2ع   كمية 

 ؟ قاعدة الك ا  المؤثرمن الماء ع  
 

An amount of 2 kg of water is contained 
in a cylindrical beaker of 0.4 m² cross-
sectional area. What is the pressure 
applied by water on the base of the 
beaker? 
 

0.784 pa 

0.08 pa 

490 pa 

50 pa 
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